KEMAGEEBR (B

SH7E5818 BARE 10 kY (RADENMZHE, Keg)
w B EDLE] ]
& A - i B — m B
E) BRISB s gl e B|D ~| & BT B & @&

KAEZW] & 952 377 |1,296 130| 575 1.600 162
= - 830 830 | 1,404 100
IFEB| E & 32 32| 1,728 1,550
US| B B 160 102 | 2,200 227 58 | 2,700 270
wuhEn| £ B 22 22 | 3,240 1,512

I sl E B 337 147 | 2,484 144 ] 190 [ 1,800 650
Iz | & E 36 35 | 1,296 200 1 1,296

E C|E B 43 43 | 3,240 2,808

BEC P

M= F I8

EZU0 | p #& 44 44 [12,000 8,000
4 B| E E 5 5 2,800

5 ] 6 = 6 2 121,600 17,280 4 134,560 23,000
FF<n | = & 42 42 | 1,944 1,150
b | B A 60 60 | 1,200 918
LUH| B R 30 30| 800 780
xn B

A Bl &R E 5 5 2,500

h S| g E 113 113 | 3,024 367
»h W]k E 51 51 | 2,700 1,700
SEBE

Wbu| & B 181 181 486 167
WHpU | & & 320 320 702 297
hHU| B 5 264 73 | 1,728 324 191 864 567
N 280 280 | 459 400
a IR & 85 85 562 440
SAhAE

hoB| + & 156 156 | 1,566 650
a0 & B 32 32 1,674
JALD | B B 32 32 | 3375 2,025
ENEN 53 53| 1,782 1,600
EHE38| B 1% 21 21 3,780
FEHOH

WeEKD

csho | = & 425 192 | 1,080 1,026 | 233 | 1,188 702
<BFELB 9 9 5184

Wh &

=EHE 35 35 2,800
BBEACHD 50 50 3,070
sHrn | db E 126 126 | 4536 | . 637
SEnzUl B 5 41 41 | 1,920 1,537
BOEZV 8 8 2,964

AR C

m e W

A D IC

B = 3 X IR 493 493 | 2,592 1,330

X1 PERmEs 1 DDEs

9,574




SAN7TES5R1H  #rd wAEE [ kY

R 2|E B8 B=lal R |® 8|E n[% [Pl kSR
BODA|E 51|65 || 3630 3,180 | [P & ke
AN T | L53 I
Dz D T BT HIC T
WHLEF 71 A D 11
B FD I By 71
Z O 1 Bl 1
wolLaF| A g 30 [u 1,296 . IZFEDEA 1
S5z F| A B 24 |1 1,512 X 1
e s 1 BET L
ShERT i Erann| Ik EE | 156 | 1/]1.908 1.566
FUDMD T B0 1]
FLONL T [EHET| A 811 1,800
21T B T DERIET 1
DEFC| A Br| 389 | 112411 540 | [[E8DOF T
5 DA x| 600 [1]1.461 429 | [unsoz 1]
EE IR ER T BSAZ 7]
ETHNN T EEXI] 11
1E T (B E L F|] 24 |1 837
FRERE T DEER 1]
pEcAz|[ X B[ 15[ 500 B A F 1]
FEL A T <o 1]
pENSET| A O Sillli] 2,208 SRICUA 1l
EXSiE: T Bz 5 1
Edspfoicy 1]
[2rs0mn] @ X| 518 [ 11]2,060 1,800 | [ ZDftE 5,120 | 1]
0O & 6.954 ke




